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merks. One mark will be deducted for each incorrect answer,
Zaru!ngrk“ﬂltbcnwmdedfarmchmattmnptedqumﬁon., .

(i) If nore than one alternative answers seem o be approximate to the
correct answer, choose the closest ane.
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1.

1.

T

The cheaper materials added to food items f'"urmnre profit are called _
(1) Adulterants (Izlj. Drugs
(3) Both of these- - {4) None.of these
The organisms who cansypthesizétheiraw food are termed as
(1) Autotrophic | (2) Heterotrophic
(3) Chemoautotrophic o 4) -Cﬁérnohetei'c:truphic
The organisms obtuintwh-ﬂ’ﬂmh from deed und dm?ingntm: mate-
rials are known as
(1 l;“arasitic | (2) Saprophytic
3) Hetemﬂnphl:c T =) Autowrophic
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Relatienship between EMC and RH for biological materials has been given by
(1) Perry (2) Rankine

(3) Janssen . (4) Henderson

Stroke's law is applied when Reynolds number is

(1) Less than 2 (2) Greater than 2

(3) Lf.:ssthanarccmaltnl (4) Greater than or equal to 2

1 the moisture content of & food product on wet basis is 50.76%, its moisture
content on dry basis will be -

(1) 33.67% (2) 103.09%
(3) 150.76% (4) 49.24%

The amount of heat required to rajse the temperature of 1 g of milk by 1°C in
comparison to water is

(1)} 85% (2) 93%

(3) 107% (4) The same

Consider a spherical object having a volume of 1000 cc. The object is broken
down into smaller particles of about 1 mm size. The storage requirement of
the comminuted material in cc will be about

(1) 1000 cc (2) 800 cc

(3) 1200 cc - (4) 1400 cc

(2) {Coniinued)
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A dimensionless ratio of convective heat trangfer to conduction heat transfer
within a solid is known as

(1) Nusselt mamber (2) Prandt! number
(3) Lewis number (4) Biot number

Particle density of an agricultural peoduce is 1.95 &, The parosity of the
bulk is 36%. The bulk density of the produce is

(1) 100 @) 13s @) 150 @) 175

Air at 40 °C and 50% RH has 8 wet bulb depression of |( °C. If the relative
bumidity decreases to 40%, e waity depression will

(1) Increase 5 Q%l Decreass _
(3) Remain constant (4) Follow no definite trend
Decimal reduction time in microbial destruction is inversely proportional to

(1) Z value (2) Universal gas constant

(3} Initial concentration {4) Reaction reto

(1) Fat (2) Carotene

(3) Minerals (%) Sugar
(3)

(Zarn Orer)
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14,

15.

16.

17.

18.

As pressure is reduced, the latent heat value
(1) Increases (2) Decreases
(3) Remains the same (4) None of these

The energy required in grinding large solid particles is inversely proportional
to the function of

(1) Diameter (2) Density

(3) Strength (4) Shape

Specific heat, coefficient of viscosity and thermal conductivity are related in
(1) Thermal diffusivity (2) Prandtl number

(3) Schmidt number (4) Froude number

Which of the following is not a measure of central tendency 7
(1) Mean (2) Mode

(3) Median (4) Standard deviation
The scientific name of rice is

(1) Oryza sativa (2) Cajanus cgjan

(4) None of these

(3) Cicer aritinum

(4) (Continued)
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Essential oil obtained from tulsi i called
(1) Oil of basil (2) Ol of essence

(3) Oil of olive (4) None of the above
Density of water is maximum at

(1) 0°¢ ) (2) 4°C

@) 10°C 4 100°C

For drying, fruits and vegetables are slitﬁcd.fnr increasing
(1) Temperatwre () Fumnidity

(3) Surface area (4) None of the above
Yoghurt contains useful

(1) Bacterfa (@) Vitih meem,
(3) Yeast ' (4) None of the above
Redaess in apple is due to PR
() Asthocymnin ~~(2) Lycopemme .

() Carotene " (4) Xpnihooklls
Wax coating treatrponrosbmacgs ihe self-life of fruits because it bjocks
5 TR

O Tt __ @ R
(3) Ripening peocess (4) None of the above
- T
PG

| (Thrn Gver)
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13,

26.

7

28,

29.

The yellow colour in onion is due to the pigment
(1) Anthocyanin (2) Quercetin
(3} Lycopene : (4) Carotene
Which one of the following is ethylene absorbent ?

(1) KCl (2) KMnO, () KNO, . (DK;S0,

Fruits which show cither a rise in respiration rate or an associated production
of ethylene during the ripening process are called

(1) Climacteric (2) Non-climacteric
(3) Parthenocarpic _ (4) Parthenogenetic
The yellow pigment in papaya fruit is

(1) Carotene (2) .Xlanttmphy!ls
(3) Anthocyanin  (4) Caricaxanthin

Fruit stored in cold chamber exhibit longer life because |

(1) The rate of respiration decreases
(2) There is an increase in humidity
(3) Exposute 10 sunlight is prevenied

- énlratinn in the environment is increased
{#) CO, cont :

(6) (Continued)
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Pectin is measured by

(1) Jelly meter (2) Thermometer

(3) Refractometer (4) Spectrophotometer

Pungeacy in chill is due to the presence of

(1) Capsaicin (2) Sulphur

(3) Amides (4) Magnesium

Which of the following fruit contains the highest smount of ascorbic acid 2

(1) Indian Gooseberry .~ - (3 Manga.

(3} Apple @ OML_\
Which one of the following is 4 richest source of vitamin A .
(1) Ripe mango fruit () Carrot roak...,

(3) Ripe papaya -fru'll (4) Ripe tomato fruit

The plant growth hormone WHTCtr elpa.in snlacgiag the grape fruig

i

(N Asnﬁrbic acid (2} Gibberelic acjg
3) C}'tokmlﬂs ) _\"-g(_j_,}_&hylcne

(7)

\ —————

| (Tw'ﬂ 0'-'9#}
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33, Which of the following is commonly used as preservative in the preparation
of tomato ketchup ?
(1) Potassium metabisulphite  (2) Sodium benzoate
(3) Sodium metabisulphite (4} Citric acud
36. Which one of the following is a method of long term preservation of fruits
and vegetables ?
i) ?#teuri.z.atiun (2) Blanching
(3) Refrigeration (4) Drying
37. Yellow coloured fruits and vegetablés are rich soprces of
{1) Vitamin E (2) Vitamin C
(3) VitaminA ' {4) Vitamin B
18, Which of the following fruit is not suitable for jam making ?
{1) Mango (2) Banana
(3) Acnla (4) Lemon
19, Refractometer is used to determine
1) Minerals (2) TSS
3 Vi s (4) None of these

(3) (Continued)
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Vegetables are cannedin

{i) Brine - .+ (2) Synp

(3) D’isﬁwm- (4) None of these

Central Food Technological Research Institute is located at

(1) New Delhi @) Mysoie ™ ~um...
(3) Bangalore - (4) Hyderabad

The edible part of pomegranate is

(H Thalmm (2) Mesocarp
) Endocarp o Twan

%ich of the fuIan i8 the richest source of iror F+=ow.

{l) Pﬂm]ﬂ}' vy ﬂ,s_. i i

(3} e -wu-umﬁ- mm#"—ﬂ

AN Tt O T T —— .

. - _-‘--‘.‘\ | .-‘q'\
(1) Pectin and sugars - . '
(2) Acids and proteins . up— \

i

(3) Sugarsandacids .-
(4) Pectinandcity — - S

(9) -
(irn Over)
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45. A cyclone separator is used for separating
(1) Particies from liquids
(2) Liquid droplets from gases
{3} Fine particles from solids
(4) Al of the above
46. Insingle effect evapémtur the economy is
(1) Equalte ] (2} Gﬁ:ater than 1
(3) Lessthan ] (4) Less than or equal to 1
47, The most commonly used fumigant for storage of cereals is
(1) Zine phosphide (2) Ethylene dibromide

(3) Aluminium phosphide (4) DDT

48, Extraction of soluble constituents from a solid by means of solvent is known

as

\&) LEAChIng
(1) Distilanss :

&) Evaporation ‘
oct which reflects all the incident radiation is called a

(4) Sublimation

49. Anobj

(1) Grey object (2) White object

: None of th
(3) plack object )] cse

(10)

{Continued)
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30, Addition of salt to ice will

1.

33.

(1) Increase the temperature of the mixture

(2} Decrease the tempersture of the mixture

(3) Not alter the temperature of the mixture

(4) Do nothing of the type said earlier

The first law of thormodynarmics is-a special cage of
(1} Newtor'siaw

(@)-Law of conservation of energy

(3) Charle's law ,

4 I&.hmnibﬂﬂwm

Poscaliopumitefl _—
(1) Displacement (2) Temperature

.wﬁ&hﬁw“_,_ © BT —

(3) Pressure - (4) Viscosity

L L £ . ‘-#ﬂ_—.‘_
A pyrometer is used to measure
= H

(1) Temperature ) Presiiis
G)Humidty (3 Displacemen

w1

(1)

-
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7.

One ton of refrigeration is equivalent to
(¥} 50 keal/min (2). 100 keal/min

{(3) 150 keal/min (4) 200 kcal/min

The temperature range for ulira high temperature sterilization of mikk is

(1) 90°C-100°C (2) 100°C-115°C

(3) 135. °C-1530°C | (4) None of the above

Loss of nutrients during thermal processing of food is generally guided by an
eqqatinn of the following order

(1) Zero (2) First

(3) Second (4) N;:rnc of these

The boiling point of milk in degree Celsius is

(1) 995 (2) 100.17

(3) 9 (@) 101
Dielectric constant of a food material depends upon

(2) Moisture content

(1) Temperatre

(3) Density (4) Electrical conductivity

(12)

(Continued)
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39. A boy has 240 grams of water at 50 °C. The number of grams of ice at 0 °C
which he must 8dd to the water to lower the water temperature to 0 °C is

(I i35 {2}'-_ 150 {3)_-120‘ (@) 175

60.  Which ane of the following is deficient in milk ?

M .. - (2) Caloum
(3) Phosphorous " (4) Lactose |
61. Hmmpwmm—%wimﬂ |
(1) Geneva ~ . (@) NewDehi
(3) Rome | @ NEWEE;T( o

62. Which of he following pairs i no corroctly maichied ?

(1) Stone gratting Movgo: R T -
(2]'-M . © Smewhasy.

) Togogutig Ay S ——
(4) Ring busdeg Biape

(1) Adhesion - - \\(33 Metric force
(3) Cohesion -+~ {4) None of these
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64.

635,

66.

67.

68.

The antisterility vitamin ts

(1) Vitamin A’ {2) Vitamin B
(3) VitaminE | (4) Vitamin D
International Institute of Horticulture is situated in
(1) haly (2) Brazil

(3} India (4) China

The oil and protein content of groundnut are

(1) 20% & 50% (2) 26% & 45%
(3) 45% & 26% (4) 50% & 26%

Agricuiture and Processed Food Products Export Development Authority
{APEDA)came in existence in

(1) 1973 (2) 1980
(3) 1985 (4) 1990
Which of thé following fruits is most suited for preparation of marmalade ?
{1) Litf«hl (2) Guava
(3) Orange (4) Mango

(14) {Continued)
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Which of the following sugars is swestest ?
(1) Galactose (2) Glucose

- (3) Fructose _ {4) Sucrose

The medicinal plant known as Second shilajeet is
(1) Asparagus - (2) Safed mushi

(3) KalMegh - (4) Isabgol
Zero energy cool chambers aperate on the principle of
(1) Second law of thermodynamics
(2) Ewpwati*.;fn cooling

(3) Boyle's law

] ﬂ*m .
(4) Charle’s [aw '

Which one of the following fruit, grown mIt:Iwﬂd formin
wasteland of . .
penmuim-MmMW ng_ﬁmm ?

kS - (@) Mango
(3) Cashew (4) Banana

T

Oleorssin is extracted from o
(I) Onion _ -‘T?) Garlm

ety

(3) chili \«?j‘i’eﬂugreek

(13)

Torem,

(D Over)
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74, InIndia, date is harvested at
(1) Doka stage " (2) Dang stage
{3} Pind stage (4) All of these
75. Site of protein synthesis in a cell is
(1) Ribosomes (2) Endoplasmic reticulum
{3) Chloroplasts (4) Mitochondria
76. Who discovered X-ray First?
(1) Wilson (2) Roentgen
{3) Benzer (4) Muller
77. Aflatoxins are Md by
(1) Yeast (2) Bacteria
(3) Molds (4) Nematodes
73, Among cucurbits, which fruitis richest in iron content ?
(1) Musk melon (2) Watermelon
(3) Bottle gourd (4) Bitter gul._lrd
19. Pungency in onion is due to the presence of

(1) Altyt propy! disulphide (2) Diallyl disulphide

(3) Isothiocyoete - (&) Copsaicm
(16) (Continued)
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80. Which of the following is not 2 bio-pesticide ?

81,

(1) Bioneem (2) Biolep

(3) Dipel (4) C;rbaryi

.mm;ﬂm is & phenolic fctor present in onion having anti-
(1) Quercétia (2) Catechol

(3) Sinigrin (%) Altyl propy! disulphide

Msjor pest o potato during storage s B

(1) Cut worms (2) Aphids

(3) Jessids (4) Potato tuber moth

Which vitamin is called coagulating vitamin? - -
(1) Vitamin A (2) Vitamin E

(3) VitaminK (4) Vitamin C

: Thepmtwhichaﬂnnkthﬁpulsas bothin fields and at storage

B .

(1) Pulse beetle ' * (2) Gram pod borer
(3) Red gram pod fly (4) PodboleT
\\. o

(17 »
) (Turn Over)
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83.

86.

87,

88,

The first Indian scientist who collected and identified fungi in India
(1) E. 1. Butler (2) K. R. Kirtikar °

(3) J.F.Dastur . (4) K.C. Mehta

%ich.nfiht: following cannot synthesize protcin by own enzymes ?
(1) Bacteria o Mycoplasma

() RO _ - (4) Virus

Mad cow dis.ease is caused by

(1) Virion " " (2) Pirion

(3) Bacteria (4) MLO

Which one of the following cannot be detected by ELISA technique ?

(1) Virus (2) Bacteria

(3) Viroid (4) Fungus

The strongest bond is ”
(1) lonic bond ~ (2) Covalent bond

(3) Hydrogen bond (4) van der Waals

1 atent heat of fusion (ice to water) is
(1) 540 cal @ 620 cal

(3) 80 cal (4) 40 cal

(18) (Continued)
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91. Which of the following is deficient in rice grain 7
(1} Lysing (2) Giycine
(3) Isoleucine (4) Alanine

92, IhepmufhﬂkduWQfmmhmmmmﬂmulmﬂuwﬁmhm
mhmmyukmwnas

(DAmbolsm o) Cusbolism

(3) Both(1)and (2) (4) Nene of Ihesc
93. Wavelength of visible ligit is

.(I} 260 nm-350 nm (2) 360 nm-760 nm

(3) 390 nm-760 nm 4) 400 nm-700 nm
94. Most dangerous gas for depletion of ozone Iay:r‘i.s

(1} Chlorine .. (2) CFC

(3) Benzene _ (4) CO

(1} Quinones = (2). Tocopherals -
(3) Phenols [4} Sorbitols =~

( 12- (Turn Oyer)
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96. Respiratory Quotient (RQ) for carbohydrates is approximately

(1)} 0.5 {2) 1.0

97. The end product of glycolysis is

(1} Glucose
(3) Pyruvic acid
98, Krebs cycle produces
(1) 18 ATP (2) 30ATP
" 99, Celiutose is a polymer of

{1) B-D Glucose

(3) B-L Fructose

3y 1.33 (4) 0.7

(2) Sucrose

(4 NADH

(3) 2ATP  (4) 36ATP

(2) a-D Glucose

(4) o-D Galactose

100, Greenhouse gusforglnbalwmrﬁhg is

Mo, (2) CH,
101 Unit. of pressure in S system is

(1) Aumosphere

(3) Pascal

(3) SO, (# CO,
(2) Dynes per square cm
(4) mm of mercury

(20) | {Continued)
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102. Coconut fat is a rich source of
(1) Palmitic acid @) Stearic acid
(3) Laaric acid ~(4) Ricinoleic acid
103, Temperature of LTLT pasteurizasion h!:;:ﬂkis
(1) 61C-63 °C @) 42°C49°C
(3) 62°C-65C @) 519065 C
184, Rickets i capned doe I the defiisncy of.
(1) Vitamin C (2) Vitamin D
. (3) Viamina | iﬂ*ﬂmﬂu o
10S. Milk sugaris ggm—————
. (1) Emoteso— =2} Maltose
(3) Glucose @ Sucrose -
106. mﬁﬁu ik
(1) West Boggal ——— (2) Uttar Pradesh

(@) Keals """ 4y Tamil Nad

.
107. Eggshell s made ol =~
D ClOH), e D) Ca(PO),

(3) Caly -— - @

P Rans | | |
N— L .,..—--—-—' i
- Yot Over)
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108. Quality of egg can be judged by
(1) Candling ©(2) Annealing
{3) Temperature test (4) pH

109, White revolution related to
(1) Cotton : (2) Milk
(3) Rice (4) Sheep

110. Vellow color of ege is due to |
{1) Carotene | (2) Anthocyanin
(3) VitaminB (4) Xanthphyl

111. Hormone from milk secretion is

(1) Oxytocin (2) ACH
(3) Prolactin (4) TSH
112. Crude fibre content in roughage is approximately
(1) 18%-20% (2) 30% - 32%
(3) 25%- % (4) 35%-37%
113, Enzyme congulated milk product s
(1) Panef (2) Dahi
(3) Checse (4) Chhana

s (22)

(Continued)}
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114, Lactic acid content in fresh cow milk is

(1) 0.10% (2) 0.15%
@0 m ' ) (4) None of these
115. pH of fresh buf&lum is
(H 46 (2) 5.6 {3} 6.6 (4) 7.6
116. Which of the fnllnwmg v:m remains mnst resistant on heat treatmem of
mitk ? - ) o
(1) Vitamin A @ V_ﬂhfnm C o
3) VMmmB (4) VitaminB,,

..*-—----.- -y
|1—l’..

117 mmmmmmmmmmmm

e

e ———— .1 - ; R
(1} {}u&ry (2) Adrenal {3) Plturtil}' mm
W
llE.Hcmmn sacmd MMMMMMWMWH '
m Glucagun 2) m 5% (4) Relaxin

119. Outﬂfﬂ'letﬂtﬂbo&yl:ﬁlﬂﬂﬂn Fmeandteethh;?"“*

§ Do
(1) 9% (2) 89% BLE ke 99%

120, Which otie of the fof=+748 1 10 8 bacierial disease P
= J‘

(1) Rinderpes WH""’“W“

. .ﬂ“ﬁ“—'_

(3) Anthmx | (4) Black quarfey

e o

e

(23)
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